m Ranbow mat ome

6x7= 79 lexioe 654655
6 x70= 41 15 |7x1000-= 1=0.4+

60 x 70 = 10 13 |5000+10= 150-99 =
420+ 6 = 43 45 |4x100= 75.5 + 25.5 =
8x8= 27 29 |600 +100 = 7.8+7.8 =
0.8x0.8= 1 5 0.9 x 100 = 9.9+9.9=

64 -8 = 10 7 10 x 100 = 250 + 250 =
640 =8 = 11 22 [8x1000-= 10=7.3 +
7x8= 4 2 700+ 7 = 6.3-0.9=

70 x 80 = 19 20 [4x1000-= 101-75=

700 x 8 = 18 17 3000 + 1000 = 6.2 + =10
560 =70 = 49 31 (400 +1000 = 22.9+22.9=




m Ranbow mat ome

6x8= 15 Joxt0s 29+229=
0.6x8= 10 7 13 x 100 = 7.8+7.8 =

6 x80= 11 22 |800+10= 6.3-0.9=

480 + 8 = q 2 0.4 x 1000 = 1=0.4+
7x8= 3 8 600 + 100 = 6.5+ 6.5 =

70 x 80 = 41 15 [900x 10 = 101-75=

700 x 8 = 10 13 |16x10= 6.2 + =10
560 + 70 = 43 45 |5x100= 9.9+9.9-=
9x9= 27 29 |2000 + 1000 = 250 + 250 =

90 x 90 = 7 9 |18x10= 150 — 99 =
0.9x0.9= 19 20 |900+9= 75.5+25.5=
8100+ 9= 18 17 |400 + 1000 = 10=7.3+




